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National 5 Maths National 5 Maths
SQA 2014 Paper 1

Question 4 MGthS SCOt ”

-2 0
Find the resultant vector 2Zu—v whenu=| 3| andv=|-4|.
5 7
Express your answer in component form. 2

Answer:

-4
10
3
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National 5 Maths National 5 Maths a
SQA 2015 Paper 2

Question 5 MGthS SCOt "

The vectors p and q are shown in the diagram below.
Find the resultant vector p + q.

Express your answer in component form.

"~

Answer:
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National 5 Maths National 5 Maths
SQA 2016 Paper 1

Question 1 MGthS SCOt ”

4 -5
Given p=[ EJ andq={ J.

1
Find the resultant vector EP +q.

Express your answer in component form. 2

Answer:

4
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National 5 Maths National 5 Maths ,
SQA 2018 Paper 1

Question 4 MGthS SCOt ”

1 6
Two vectors are givenby u=|5|and u+v=|—4 |,
1 3

Find vector v.

Express your answer in component form.

Answer:
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Question 10 MGthS SCOt ”

> 6 — (-1
In triangle PQR, PR =( 4} and RQ =[ j

8
Q
P
M
R

%
(@) Express PQ in component form. 1
M is the midpoint of PR.

%.
(b) Express MQ in component form. 2

Answers:
H’E]
(a) 4
(2
(b) ]
H\6
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National 5 Maths National 5 Maths
SQA 2021 Paper 2

Question 5 MGthS SCOt "

The vectors u and v are shown in the diagram below.

Find the resultant vector u —v.

Express your answer in component form. 2

Answer:
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